10

X T tﬁas4§g

88 b
16%?3%}

102k

=
S

I
Ty

[y
TTT T TT

O e A6 810

[ pull of @parameter

107}

1072

1073

10

Ratio
=

-10-8 6 4 -2 0 2 4 6 8 10

[ pull of dxy parameter

10*15— 0.0?)’
F T
C o '
SRR L _o_o%ﬁ%%%
TR ST O T = s
. ey, o
I Flio T
3 . (11%%%[ 0 00008:3%
102 i g o0
E 3 : %U\SS .l
. \{ ev
r gl‘%%%;am ,OO%ggg g
104 i S R AR [AER SRR SRS
E [ | | | | | |
RS E :
T -
4 Fe L
L & o
0.9]s
4
0.85
=10 8 6 4 2 0 2 4 6 8 10

| pull of qoverp parameter

107!

o I 2R S %rles
B nhl weeeme o dEiey
onstant

ean

. . 19ma

e;

cﬁﬂe

TEnTes
(=]

i daﬁtt 06
| %’Anfwa” -0.068

pull of B parameter |

107}

1072

1073

10

Ratio

b A
H H k & Bev
N : Al ‘0%‘%5
RIS
oS

103

%ﬂﬂevl 76.(0 %

808 =6 =4 2 0 2 4 6 8 10

[ pull of dz parameter

res

107}

e
151:1551%‘(11 0,
Al 0.0¢

a
s 01688
e §§§
GAh  0-0uRh
........... ;nes _'
%nsl%‘(n 090 g
: lHLb 1 996%
é?; 9 ’W[ g

8
ﬁ§3|
T
7
i)

td Dev
onstant Q 815
Sal 0.004

Ratio

—.L086420246810



	Contents
	Page 1


